End of The Cold War/Perestroika and Glasnost

-Reagan elected US president in ’80, did not agree with détente and had a new get tough approach, increased military spending by 40% including the planned Strategic Defense Initiative (SDI), nicknamed Star Wars.

-In the USSR a relatively young new leader came to power after the deaths of three leaders in a row: Leonid Brezhnev (1982), Yuri Andropov (1984), & Konstantin Chernenko (1985).

-Gorbachev represented a new generation, a well educated leader, he recognized the inability of the USSR to compete with the USA in an arms race. The Soviet economy was in ruins and every dollar spent on the military adversely affected the people.
So what did he do?

1. Removed Soviet troops from Afghanistan which had become a military disaster (it was dubbed “USSR’s Vietnam”).

2. Unilaterally began a series of radical peace initiatives. Arms reduction talks immediately began in 1986. 

3. Introduced sweeping domestic economic reforms to deal with the threat of the collapse of the economy.  Known as Perestroika, it aimed to bring a freer market economy, but it had its problems.

4. He addressed social problems as well such as: increasing crime, deteriorating health care system, environmental pollution, alcoholism and gender inequity (women only received 65% of men’s pay yet they were central to a stable home life).  This was done with the policy of Glasnost.  It was hoped reform would result from a new era of openness.  Press censorship was removed and debate (including criticizing the government) was encouraged.  Ironically, Gorbachev’s reforms planted the seeds for his own political demise.  
